EhYEh

ST.3565,/ \ST1.5621

i
ST.3767

7
7
7

A
\/3\

No. Kod Parca Adi
] ST.3472 DUZ PUL M12 . .
2 ST.3763 AKB CIVATA M12x20 ST.5637 ST.5637 ST.4385
3 ST.4385 GRASORLUK M10x1 6 m
.. @ ST.3472
4 32443 SILINDIR ALT PERNO 2 bt W ]
5 30425 ALT ACILIR KOVA SILINDIRI 2 ST.3472
5 4 3 ’
6 32444 SILINDIR UST PERNO 2 32425 32443 | \3T.4385 ST.3763
7 ST.3565 AK FIBERLI SOMUN M12 2 2
ST.3763
8 ST.5621 CIVATALI TIRNAK E11.1 6
9 ST.3767 AKB CIVATA M12x40 2
10 32442 SILINDIR MAFSAL PERNO 2
1 ST.5637 BURC 4
ALT ACILIR KOVA (AKYN-L1500-E900)
AN
ST.3565/\ST.5621
Xﬂ
ST.3767
p. N
No. Kod Parca Adi Adet '
] ST.3763 AKB CIVATA M12x20 6 \m
2 ST.3472 DUZ PUL M12 6 4 AN 3
\ ST.4385
3 ST.4385 GRASORLUK M10x1 6 32443
4 32443 SILINDIR ALT PERNO 2 ,
— 3 17 10
5 32459 ALT ACILIR KOVA SILINDIR] 2 < ana ST 5437 3944 ST 3743
6 32444 SILINDIR UST PERNO 2 U
7 ST.3565 AK FIBERLI SOMUN M12 10 2 |
. ST.3472) 313763 ST.3763
8 ST.5621 CIVATALI TIRNAK 5
9 ST.3767 AKB CIVATA M12x40 10
10 32442 SILINDIR MAFSAL PERNO 2
1 ST.5637 KOL GOBEK PERNO PULU 4

ALT ACILIR KOVA (DE-L1650-E1040-TIRNAKLI

1




